.11 is compulsory.

dedabase Ma V\n(-f/{.-m w_{, Sy

[Time: 3 Hours]
3. Answers to sub questions s

2

2. Attempt any four from remain

Mch Sem-T0 ((c®SGS)

N.B

a) Suppose you are given the following requireme

Q1

ag?ﬁ

Each player has a name,
A team captain is also af

The NHL has many teams,
records,

A game is played b

League (NHL):

ii)
iii)
iv)
v)

i)

vi)

n

date (such as Ma

Constructacl

o
-

08

a)

Q.2

07

08

Q.3

‘depen

tion decomposition with the helpofan 07

£

cy preserva
VA

=

' "dependency
g functional dependencies hold true

u«mu\
(AP
L e Nl o v
Q«: L,va\,..
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I

08
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W.. Vs
. mﬁ 27

07

08
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b) Explain the roles and responsibilities of DBA for managing

a) Explain ARIES crash recovery in database.

Q.7 Write short notes on any three

Q.6

4E21DEFBID6DC36590CFF89B87B224EC

a) Weak Entity and Strong Entity
d) Generalization and specialization

b) Shadow Paging
c) Network Data Model
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M CA- el ERSGY)
[Time: 3 Hours]

N.B: 1. Question No. 1 is compulsory. ‘~
2. Attempt any four from the remaining su@q

Q.1

Q.2

Q.3 a)
b)

Q.4 a)
b)

Q.5 a) Whatis prOJect cost and PFOJECt Cost Managem_ nt? o

b) Explain Ethics and Ethlcal Leadershlp

Q.6 a) What are the skills required to become good project manager?

: _-.b):_'What,ar'e th-e differ'en_t ways to close a project? Explain each briefly.

Q 7 Wnte Short Notes on Any three -

a) Change Management

7 < b) :1"-5t_a‘tis_ti_c.a.l' S.amp_!ing :

. d) - Information Distribution

7879AB9848BCAT4B209B152B50D4E584
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08

07

08

07

08

07

08
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Q.1

™ -

N.B:

T8623 / T0249 OPERATION RESEARCH

¢ A Sem-11]

1. Question No.1 is compulsory.

2. Attempt any four questions from question 2 to

3. Figure to the right indicates marks.
4. Use of scientific calculator is allowed.
5. mixing of sub-questions not allowed

Cesgs .

[Time : 3 Hours]

Activity T 3’7-6 4-6
Optimistic (to) -4 2
Most likely (tm) 19 5
Pessimistic (tp) 28 14

i) Draw the network. Determlnethe expected task times and thew var]ances
i) Find the earhesb&nilatesr expectgd times. for each node. FJnd the cr:tlcal path. What is the

Subjectto‘ 3x
X1+7x2 4x3<<--
Sx; “2x3>12

probability of cmhp!

eﬁ‘ng tbe—prcuq tin'40 days{P{z 1'57) 0. 9525}

4

5

-' 12,000 15,000

18,000

20,000

‘t' GOOOk Where k=6, 7, 8 9, 10(k is the age in years) If the resale

3321695B20842B155E053B1185633C82

05

08

07




T8623 / T0249 OPERATION RESEARCH

cannot be placed at A. Cij, the assignment cost of machine i to placej |r?
optimal assignment schedule 3

A B C D E
M1 4 6 10 5 6
M2 7 4 - 5 kS
M3 - 6 9 6 2
M4 9 3 7 Z 3

b. Solve the following LPP by Big-M method
maximize Z=3x1-x2
Subject to: 2x 1+x2< 2,
x1+3x2=3,
x2< 4,
and x1,x2=20

: ementafactory\manager |s'c0n5|dermg the best way to transport cement from his three 07
manufacturmg chtdy\nswPQlR to depots A, B,C, D,E. The weekly production and demand along with

'f',.:

rta qosts petton are given below. The availability at the centers P, Q, R are 60,35,40 and the
':_, d'émanq:-ab-tbe depots__ Fare 22,45,20,18,30 respectively. What should be the optimum distribution

3321695B20842B155E053B1185633C82



T8623 / T0249 OPERATION RESEARCH

A B C
i 4 1 3
Q 2 3 2
R 3 5 2

Q.6 a.Consider the data shown below for a pro;ect

Activity
Duration( |2 4
Weeks)

b. Solve the following LPP by Dual s&mplex method
Minimize Z=10x1+6x2+2x3
Subject to: x1-X2+X3>=1,
3x2-x2-x3=2,
and x1,x2,x3=0

Q.7 a. A food product company is contemplatmg the 1ntroduct|on cf a revolut onar e'u"v product with new 08
packaglng to replace the existmg product at much prtce (51) or a modgrate_change in the composmon of

composition of the exlstmg prodyct WJIh a neghg:b!e mcyease in p'

ce [53) The three possible states of

el

nature of events are: |} H:gh mcrease in sales (Nl} ;r) no: chang in. sales guz), and iii) decrease in sales
(N3). The marketlng department of the company worked out the payoffs in terms of yearly net profits for

Courses of actlon
S R A S s3
N1 ©7,00,000 . < .- [5,00,000 . 3,00,000
N2 ~|3,00,000 -~ |-4,50,000 3,00,000
N3 _-1,5‘0;0‘00 R 4 3,00,000

> ',_:_th‘rgE machmes MJ“‘\MZ and M3 The tlme\reqmred in hours by each product and total time available in
& hQ!Jf‘pe!‘ week Qn reach machifie:are as follows

SRR o N Table Available Time
NS ~.'~’"- > 3 36
O N 2 50

3321695B20842B155E053B1185633C82
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[Time: 3 Hours]

Please check whether you have got the right qu

1. Question No.1is compulsory.

b

1. (a) Discuss the implementations issues of Sutherland Hodgemz

N.B:

)

(b) How region filling algorithms are developed for polygt

an
LS

t

b

00

s
ns.

2. (a) Compare and contrast Parallel and perspective
(b) Write the matrices for following transformatio;

i) Rotation about a pivot point

v) reflection about X axis

n the

_‘g - o

~3. (a) Perform Histogram Equalization o

Equalized Histogram.

Gray Level

Number of pixel

07

detection.

07
08
07

1), (3,4), (5,7), (10,3) when rotated 08

in x-direction and thre

¥

51
ts

7

finaté

oy WO

3

otch curve in brief,

: .-3;'1] and upper right (2,6) using Cohen Sutherland

08
07

iewport transformation.

Vi

sge'ﬁg and Random-Scan Systems

AN

FScan Sy

sste
eRotati
al

5

=

st Rast
R

ang,

£

e

07
08

Suitive
ltiplicative

e,

=, e

re.my
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g a

N
ling a

v
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ivesc

A
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SemTIL M+ CeA- (CBSGSD QP CODE : 515002
Netw ori_ Secwﬂa/

N. B : (1) Question number 1 is compulsory

3 Hours [Max Marks: 80]
(2) Attempt any 4 from question Nos. 2 to 7.

(3) INustrate answers with sketches wherever necessary.

Qla) What is network security? Why is it needed? Explain various security services. (10)
b) What is Key Distribution Centre? How does the key distribution work with multiple

KDC domains? .. (10 )

Q2 a) What do you mean by Hash function? Explain message digest algorithm of MD5.
(08 )

b) What is cryptography? In an RSA system, the public key of a user is e=7,
n=527. What is the private key of the user? (07)

Q3 a) Explain mutual authentication and refection attack with the help of a diagram.
(08)
b) Explain how security of a message is achieved using the SSL (07)

Q4a) What do you mean by IDEA algorithm and also explain the detailed working principle
of IDEA. (08)

b) Explain DES algorithm with Initial Permutation. (07)
Q5 a) Define Firewall. What are the types of Firewalls? Explain in brief. ( 08)
b) Explain how SET ensures a secure e — commerce transaction. (07)

Q6 a) What is Kerberos? Explain the working procedure of Kerberos? Define Kerberos V5
(08)

b) What is a digital certificate? Explain the stepwise process of certificate generation? (07)
Q7. Write short notes on: (any three) (15)

a) IPSec

b) Email security

c) ECB

d)Intrusion detection

A4F3662ACSTF7D38EAD9I9ES8390063FB



